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Math 221 Section 10336 Ezxam 2 June 4, 2012

Follow the instructions for each question and show enough of your work so that I can follow
your thought process. If T can’t read your work or answer, you will receive little or no credit!
There are 10 problems all of them each worth 5 points for a total of 50 points. There is also
a bonus problem at the end worth 3 points.




1. Write sin(tan ! ) as an algebraic expression.
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2. Find the exact value of tan (sin_l‘(—g—)) .
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For problems 3 - 8 differentiate each function.

3. y= JEB:HQ(Sin 19)
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4. f(z) =z cosz
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7. y = arcsin{y/z)
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g(t) = tan™'(¢) + tan ™t (%)
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9. Compute the differential for y = /1 + 22,
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10. Find two numbers whose product is 81 and whose sum is a minhmum.
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11. (BONUS) We define the hyperbolic sine and hyperbolic cosine as follows:
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w that —— (sinh z) = cosh = = sinh .
Show tha - (sinhz) = coshz and dm(cosh:ﬁ) sinhz
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